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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  (2×19=38)

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Define Primary and secondary data. Explain the

difference between them  and give different methods of

collecting primary data.

 



 

2. What do you understand by production function ?

Explain the various forms of homogeneous production

function along with diagram stating it’s assumptions.
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       

         



3. What is the concept of measures of central tendencies ?

what are its objectives and functions. Explain the

properties of a good average.





4. Find the Karl Pearson’s coefficient of correlation between

the age of husbands and age of their wives :

H usband’s age W ife’s age

(in years)  (in years)

20 14

30 25

40 30

50 32

60 40

70 45

80 65



A–1033/MAEC-104 ( 4 )





 

()  ()

20 14

30 25

40 30

50 32

60 40

70 45

80 65

5. Define an index number. Differentiate between fixed

base and chain base methods of constructing index

numbers and give their relative merits

       




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Section–B

–

Sh ort Answ er Type Questions

  (4×8=32)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. What do you understand by a function ? Give some

examples of functions used in Economics.



 

2. Explain an concept of maxima and minima.

 

3. Given an example of null matrices consisting of 3 rows

and 3 column of elements.

         3

3 



A–1033/MAEC-104 ( 6 )

4. Solve the following simultaneous equations with the

help of Cramer’s rule :

4x + y = 24, 3x – 5y = 8

4x + y = 24, 3x – 5y = 8 


5. What is the difference between Dispersion and

Skewness ?

 

6. Writ a short note on Lorenz Curve.

 

7. What are the objectives of diagrammatic representation ?

Write down the various points to be kept in mind while

drawing a diagram.

          


8. Discuss the Kurtosis of the following distributions :

M ark No. of Students

0—10 8

10—20 12

20—30 20

30—40 30

40—50 15

50—60 10

60—70 5
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

  

0—10 8

10—20 12

20—30 20

30—40 30

40—50 15

50—60 10

60—70 5

**************


